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2 mergeSort o 29 F k4 splitT merges A2 FHA L.

let rec mergeSort lst =

match lst with



| 1 —> (1
| [a]l -> [al
[ 1 ->
let (m, n) = split 1 in

let m’ = mergeSort m in
let n’ = mergeSort n
in

merge m’ n’
let _ = mergeSort [5 ; 4 ; 3 ; 7 ; 9]
- : int list = [3; 4; 5; 7; 9]
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let s = try
string_of_int(
let a=read_int() in

let b=read_int() in

a/b)
with Division_by_zero -> "error"
let _ = print_string (s~"\n")
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calc: exp — string

type exp = NUM of int
| ADD of exp * exp
| MUL of exp * exp
| DIV of exp * exp
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022 U= 39, Division by _zero 9| 2] & 2] 2|3 “Div by zero” & £

let _ = print_string (calc (ADD ((NUM 1),(MUL ((NUM 1), (NUM 4))))))
(1 + (1 *4) =5
let _ = print_string (calc (DIV ((NUM 2),(NUM 0))))

Div by zero



